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* 1 irreducible components of dim¢ = 0, with total 55 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,5 20 R
C2 u®® 4 29ut - — 6u? + 1
€3, Co w4 Ut 4+ 2u41
C4,Cy ub —butt o —du+ 1
Cg, C11 u?® +3ur 4+ 35u+ 16
cs, C10 ub® — 190 4+ —18u% + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs Y — 2997 + . 4 6y7 — 1
€2 y? — 5yt 12y — 1
€3, Co Y 19y - 18y7 — 1
c4,C7 Y+ 31y 4 — 92y — 1
55 54
Cg, C11 y°? 4+ 39y°% + --- — 6167y — 256
€8, C10 y55+35y54+~-~+36y—1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

0.784082 + 0.6352341

—1.91993 + 3.956211

—4.32723 — 2.215141

0.784082 — 0.6352341

—1.91993 — 3.956211

—4.32723 + 2.215141

—0.799722 4 0.6334881

—4.89200 — 8.770561

—7.47137 4 5.345911

—0.799722 — 0.6334881

—4.89200 + 8.770561

—7.47137 — 5.345911

0.695449 + 0.7471091

—3.52521 + 0.065781

—10.04150 — 0.644301

0.695449 — 0.7471091

—3.52521 — 0.065781

—10.04150 +- 0.644301

= —0.785485 + 0.6595191

—5.96663 — 0.173011

—9.26357 — 0.918841

—0.785485 — 0.6595191

—5.96663 + 0.173011

—9.26357 4 0.918841

0.515960 + 0.9078611

—2.45106 — 5.660451

—4.09002 + 7.288271

0.515960 — 0.9078611

—2.45106 + 5.660451

—4.09002 — 7.288271

0.087591 + 1.0445101

0.0418156 + 0.05939501

—1.97321 + 0.281271

0.087591 — 1.0445101

0.0418156 — 0.05939501

—1.97321 — 0.281271

0.732924 + 0.5891951

1.02771 + 3.245841

—2.27897 — 4.077791

0.732924 — 0.5891951

1.02771 — 3.245841

—2.27897 4 4.077791

—0.518072 4 0.7661501

—0.11478 + 1.780391

—0.55066 — 3.600541

—0.518072 — 0.7661501

—0.11478 — 1.780391

—0.55066 + 3.600541

—0.066273 4 1.0753101

4.04900 + 3.400611

3.11315 — 3.086091

—0.066273 — 1.0753101

4.04900 — 3.400611

3.11315 + 3.08609.1

—0.013325 4 1.0852501

6.52620 + 2.292117

4.76004 — 3.606471

—0.013325 — 1.0852501

6.52620 — 2.292117

4.76004 + 3.606471

0.080625 + 1.0874801

1.25671 — 8.176941

0.+ 6.499471

0.080625 — 1.0874801

1.25671 + 8.176941

0. —6.499471

—0.682148 + 0.562866.1

1.33027 + 1.155531

—1.16546 — 3.238631

= —0.682148 — 0.5628661

1.33027 — 1.1556531

—1.16546 + 3.238631

0.741553 + 0.8633451

—5.44101 — 2.810131

—7.05601 + 3.054551

0.741553 — 0.8633451

—5.44101 + 2.810131

—7.05601 — 3.054551

—0.757396 + 0.8524451

—8.97089 — 1.530801

—10.56468 + 0.1

—0.757396 — 0.8524451

—8.97089 + 1.530801

—10.56468 + 0.1

0.578305 + 0.9985941

—1.71452 + 1.810471
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0.578305 — 0.9985941

—1.71452 — 1.810471




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u=0.663907 4 0.9463461

—2.91576 — 5.314351

—7.80390 4+ 6.553811

u= 0.663907 — 0.9463461

—2.91576 + 5.314351

—7.80390 — 6.553811

u = —0.751586 + 0.8785931

—8.89140 + 7.229301

—10.25643 — 6.470341

u = —0.751586 — 0.8785931

—8.89140 — 7.229301

—10.25643 4 6.470341

u = —0.606564 + 0.9907041 0.84076 + 2.755121 0
u = —0.606564 — 0.9907041 0.84076 — 2.755121 0
u = —0.644080 + 1.0187807 2.61827 4 4.001381 0
u = —0.644080 — 1.0187801 2.61827 — 4.001381 0
u= 0.660956 + 1.0252201 2.29946 — 8.583211 0
u= 0.660956 — 1.0252201 2.29946 + 8.583211 0
u = —0.698488 + 1.0157901 —4.89384 + 5.783581 0
u = —0.698488 — 1.0157901 —4.89384 — 5.783581 0
uw= 0.690811 + 1.0257901 —0.74984 — 9.535171 0
u= 0.690811 — 1.0257901 —0.74984 4 9.535171 0
u = —0.696320 + 1.0313607 —3.6961 + 14.40891 0
u = —0.696320 — 1.0313601 —3.6961 — 14.40891 0

uw = —0.171816 + 0.7200921

0.95831 + 1.609331

1.49417 — 5.749181

u = —0.171816 — 0.7200921

0.95831 — 1.609331

1.49417 + 5.749181

u= 0.630067 + 0.3443721

—3.34533 — 6.308111

—7.15638 + 6.238461

u= 0.630067 — 0.3443721

—3.34533 + 6.308111

—7.15638 — 6.238461

u = —0.561648 + 0.3675181

—0.48181 4 1.787441

—3.72385 — 3.383771

u = —0.561648 — 0.3675181

—0.48181 — 1.787441

—3.72385 + 3.383771

u= 0.569392 4 0.2571731

—4.05721 + 1.869061

—9.08122 — 0.592881

uw= 0.569392 — 0.2571731

—4.05721 — 1.869061

—9.08122 4 0.592881

u = —0.357397

—1.02390

—10.8300




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cs u Ut 2t 41
C2 u™ + 290t 4 — 6u? + 1
€3, Co ud Ut 4 2ut 1
C4,C7 uP —5ut o —du+ 1
Cg, C11 w?? + 3w+ +35u+ 16
cs, C10 u?® —19ut + - — 18w + 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C5 y*® — 2997 + - 4 6y7 — 1
€2 y*® — 5yt 12y — 1
s, Cg Y5 195 4 4 18y% — 1
4, C7 Y 431y - 92y — 1
Ces C11 y>® 4+ 39y°* + .- — 6167y — 256
cs, €10 y°% 4+ 35y + -+ 36y — 1




